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: 100kN/mM#%#E % % — -~ — —|3m%EFEBZ5 -~ — — —| 100kN/m#%#E % % — -~ — —|3mZ#Z B - ~ — — —
zhnLs 1.00| 000 ~ 469 5846 | ZhLis | 000 ~ 469 | 1.83 9.79 Thns 1.00] 5.00 ~ 5.00 5846 | ZhLis | 500 ~ 500 1.83 9.79
’ 100kN/mM#%#EZ % — -~ — —|3m%EFHBZAD -~ - — —| 100kN/m#%#EZ % - -~ - —|3mz#EZB -~ — — —
Zzh st 1.00 | 000 ~ 753 96.30 | #h s | 000 ~ 753 | 2.11 11.29 Fhst 1.00 | 500 ~ 10.00 96.30 | #h kst | 500 ~ 10.00 | 2.11 11.29
3 100kN/m###8%25| 1.00| 000 ~ 1.1 116.78 |3m%#x 3 - ~ - - —|[ 100kN/m%E# 25| 1.00 |11.41 ~ 16.03 116.78 |3m%# A3 — ~ — — —
ZhLst 1.00| 1.11 ~ 890 100.00 | #hkist | 000 ~ 890 | 2.18 11.66 Fhst 100 | 500 ~ 11.41 100.00 | #h kst | 500 ~ 16.03 | 2.18 11.66
4 100kN/mi%#8%2%| 1.00| 000 ~ 029 104.33 |3m%#A 3 -~ - - —|[ 100kN/mM%E#EZ%| 1.00 [11.11 ~ 12.04 104.33 |3m%#A 5 -~ - - -
Zh st 1.00| 029 ~ 8.08 100.00 | #hkist | 000 ~ 808 | 204 10.90 Fhst 100 | 500 ~ 11.11 100.00 | #hlist | 500 ~ 1204 | 2.04 10.90
5 100kN/mM#Z#B % % — -~ - —|3mEHBR S -~ — - —| 100kN/mM%Z#B %% — -~ - —|3m%EEB X3 - ~ — — —
Zh st 1.00 | 000 ~ 462 5758 | #h st | 000 ~ 462 | 1.87 10.00 Thst 100 | 500 ~ 500 5758 | #hist | 500 ~ 500 | 1.87 10.00
100kN/M#EH#BZ % ~ 3mEHERD ~ 100kN/M%EH#B %% ~ ImEIBZ D ~
Zh st ~ Zh st ~ Zh st ~ Zhst ~
100kN/mM#E#B %% ~ 3mEHERD ~ 100kN/mM%EH#B %% ~ IMERBZ D ~
Zzh st ~ Zzhst ~ Zzh st ~ Zhst ~
100kN/M%EH#B % % ~ 3mEHERD ~ 100kN/mM%E#B % % ~ IMERBZ D ~
Zh st ~ Zhist ~ Zh st ~ Zhst ~
100kN/M#ZEH#B % % ~ 3mZHERD ~ 100kN/mM#ZE#B %% ~ IMERBZ D ~
Zhst ~ Zhst ~ Zh st ~ Thst ~
100kN/mM#Z#BZ % ~ 3mEHZ 5 ~ 100kN/mM%#B %% ~ 3mEHBAD ~
Zzhst ~ Zzhs ~ zhst ~ zhst ~
100kN/mM#%#B % % ~ 3mZEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
zh st ~ zhnst ~ zhns ~ zhst ~
100kN/mM#%#E % % ~ ImEHEZ5 ~ 100kN/m#%#E % % ~ ImEHBZ D ~
Zzh st ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#EZ % ~ 3mEHEZD ~ 100kN/mM#%#EZ % ~ ImEHZ D ~
Zzhs ~ Zzhs ~ zhs ~ zhst ~
100kN/mM#%#B % % ~ 3mEHZ5 ~ 100kN/mM#%#E % % ~ ImEHZD ~
Thist ~ Thilst ~ Thilst ~ Thist ~
100kN/mM#%#E % % ~ 3mEHEZ5 ~ 100kN/mM#%#E % % ~ ImEHZ D ~
Zzh st ~ Zzh st ~ Zzh st ~ Zzh st ~
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